
Student Exam No'

Garvrnr UxrvnnsrrY
B, Tech. Semester: 8th Civil Engineering

Regular Examination (CBCS) - April - June 2017

2CI801: Advanced Structural Design

iWaxi. Time: 3 Hours

Instruction: i. Answer to the two sections must be written in separate answer book.

2, Figures to the right indicate fuil mark'

3. Assume suitable data if required'
4.UsethesP16graphswhichisgivenattheendofpaper.

Que. - I

Que. - 2

Maxi. Marks: 70

Section - I

Design and draw detailing of reinforcement of one-way continuous slab of Plan A' 10

consider Live load act on slab as 3 ld.I/rn2 and Floor Finish as 1 kf ilmz' use M20

concr.ete and Fe415 steel. Spacing of reinforcement should satisfy cracking criteria'

5m 5m 11m

Plan A
Consider atl slab having uniform thickness D=150mm and d=125mm. Design and

draw detailing of reinforcement of continuous beam shown in Plan A. Consider Live

load act on slab as 3 kN/# and Floor Finish as i kN/m2. Use M20 concrete and

Fe415 steel. Neglect Self weight of beam.

OR

Design a short column and do necessary check if required for following data

Column : 330 mm X 500 mm Effective cover: 50 mm

Axial Load : 2000 kNI M20 Concrete and Fe415 Steel

Moment in x direction : 100 kN.m
Moment in y direction : 50 kN.m

(Note : All loads are factored loads,
Reinforcement distributed equally on four
side)
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Que, - 3 Check the stability of retaining wall and design Hell slab (ordy top

foliowing data: unit weighr of soil = 18 kll/#, s.B.c. of soii : 14a kN/#,

of intemal friction : 300, Coefficient of friction between base and soil : 0.65,

Surcharge pressure 15 kN/m2, effective cover 50 mm, M20 Concrete and Fe415

steel.
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OR

Design an isolated sloped column footing for a R.C.C. Column of 500mm X 500 mm

size carries an axial compressive load of 1600 kN. Consider Edge thickness of

footing as 300mm, Clear cover 50 I* and safe bearing capacity of soil as 200

kN/mz. Use M20 concrete and Fe415 steel.

Section - II
Find out Panel point load of DL and LL forthe How type Truss span width is 18m,

c/c distance of two trusses is 5m.

Find out Panel point load of WL for the How type Truss span width is 18m,c/c

distance of two trusses is 5m. Bottom Chord Member is 12m above the ground

Level.

OR
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Que. - 5

Que. - 5 (A)

(B)

Que. - 6 {A)

ilur*r
0r Frn!"

(A) Design Furlin for the Combine load of 6,5 lc\#m2.

{B) Draw Truss Cornponents and enlist it.

Find out Member force of Bottom Chord Member for the Panel point force of DL,
LL & WL respectively are 2.lkN',4.0kN, Z.2ld{.

OR
Design a Colurnn for Compressive ioad of 500klr{.

Describe Load combination and give its code provisions.

Design of Column Base Plate for the truss which having compressive force of
600td{.

Design Grillage Foundation For the Load of l l00kN.

END OF PAPER
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Concreie : M Z0
Steel: Fe 4!i

TABLE 1'8'4' Reinforcement percentages for Doubry Reinforced sections
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